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Obf==Z A0 XMel 30,000
SHoll CHZR ==& 150,000 100,000 50,000
201 fer= 3| 150,000 100,000 50,000
01 At 2t 150,000 100,000 50,000
Ogxz 150,000
—SolCHEY & =cIAlE 2ISE=3HI 180,000
MN=Xl SEZHA HAIAIE 60,000 50,000 10,000
308 XXM SOIA 30,000 30,000 0
1 SIS0t HASAIY 30,000 30,000 0
ONUX=X SHX HHAIL2SE 30,000
403 MR HMSAHE01H 30,000 20,000 10,000
02 SISO StA=2H 2 A 30,000 20,000 10,000
OMUXM=X S=ZHX HHAL2SE 30,000
oA X2 EHI (A= X =2=XI) 520,000 1,400,000 880,000
[ 260,000
= 130,000
Al 130,000
401 AlZHIZ S OHYI 520,000 1,400,000 880,000
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FeFXl OHE 6,783,500 7,103,000 A319,500
NE:PlL- 6,783,500 7,103,000 A319,500
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401 AlZHIZL RO 530,000 530,000 0
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Ogldote etz &I (L=400m) 90,000
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O=302 22 EHI(L=400m) 40,000
Ogs0te A& FHI(L=90m) 90,000
OZAiote etz HbI(L=550m) 40,000
XIS (ste8) 530,000 530,000 0
401 AIZHIX S0HH 530,000 530,000
01 AlZ2H| 530,000 530,000
Og®ote Ma E4I(L=70m) 100,000
O=ES0t2 <=2 FbI(L=70m) 80,000
OHs0te A& FHI(L=100m) 70,000
Ogxil2 =2 FI(L=170m) 160,000
OUHAIOHS er2 EHI(L=450m) 40,000
OIS ez EHI(L270m) 40,000
OAIMOIS etz EHI(L=170m) 40,000
NS (F=H) 530,000 530,000 0
401 AlZHIZL SO 530,000 530,000
01 Al&HI 530,000 530,000
O&S0t2 M&E FHI(L=150m) 120,000
Oouots Ma EdI(L=70m) 110,000
SA0IS MA FHI(L=200m) 150,000
OuEots orz A (L=1600m) 50,000
OSXZ0ts o2 ZE(L=2100m) 40,000
OU=0ts et 2t ZXI(L=280m) 60,000
INEPL = =t) 530,000 530,000 0
401 Al HIZ S OHbI 530,000 530,000
01 AlZ2H| 530,000 530,000
O2l0H3t0E MIE & HI(L=100m) 100,000
OZ=0t= M& F8I(L=100m) 90,000
O2=0t2 =2 FHI(L=50m) 50,000
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KSR (Ateled) 530,000 530,000
401 Al HIZ R 0HbI 530,000 530,000
01 AlZ8| 530,000 530,000
Zetore M EHI1(L=100m) 50,000
O=&0t2 22 I (L=600m) 70,000
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On=0t2 etz FdI(L=400m) 50,000
KISHe (AHLHEA) 530,000 530,000 0
401 AlEHIZ 201 530,000 530,000
01 AlZ2H| 530,000 530,000
Ost==0t2 =2 FHI(L=400m) 40,000
OA410te =2 EHI(L=140m) 70,000
Ostefors i+=2 FI(L=170m) 90,000
OCUHAIDFS OFAZIEZH(L=600m) 60,000
OXAOIE 2 ZE(L=100m) 80,000
O&Z0t2 =2 HHI(L=150m) 70,000
O&20ts OtAZ ZE(L=700m) 60,000
OUEDIS OtAE ZZEH(L=800) 60,000
XISHe (sHaed) 530,000 530,000 0
401 AlEHIZ S 0HBI 530,000 530,000
01 AlZH| 530,000 530,000
OAteiore et EHI(L=20m) 60,000
Oetote =2 HHI(L=70m) 50,000
O84012 22 EHI(L=100m) 70,000
OOot=MototS =2 ZHI(L=110m) 70,000
ogsors Ma FbI(L=150m) 80,000
OAIMOIS Bi==2 FHI(L=60m) 80,000
Ot=0ts or2 OtAZ ZF(L=500m) 40,000
Ox=s 02 &2 OtAZ ZZ(L=1000m 80,000
XIS (aee) 530,000 530,000 0
401 AlEHIZ 2018 530,000 530,000
01 Al&H| 530,000 530,000
gi-gsS2ttS etz A& IHZH(L=100m) 70,000
Ogz2elire 2! JHE (L=100m) 90,000
Os402 =2 FHI(L=130m) 90,000
OQI OIS B2 FHI(L=100m) 50,000
OU30t2 =& & (L=450m) 130,000
OR0tS =2 FHI(L=80m) 60,000
OZx30t2 =2 FHbI(L=50m) 40,000
NS/ EES=) 530,000 530,000 0
401 Al HIZL S 0HYI 530,000 530,000
01 Al&HI 530,000 530,000
Oti=0ts =22 FH|(L=450m) 40,000




2A:

E M

NE-p/ =
FFR R

chel: XIoHg (crel: &8
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OO0 =2 FHI(L=450m) 80,000
Oetgnts =2 Fl(L=45m) 30,000
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Oouitiors etz &bI(L=150m) 30,000
Ogegtots o FHI(L=70m) 30,000
Ogs0tE A& ZHI(L=100m) 150,000
XSpe (Lote) 530,000 530,000
401 AlEHIZL SO 530,000 530,000
01 Al&HI 530,000 530,000
O&s0te MA &I (L=100m) 100,000
O=E0t2 =2 ZHI(L=60m) 80,000
O340 =2 FHI(L=200m) 60,000
OLAIOHS erz EHI(L=600m) 80,000
Og20ts A& Z4I1(L=30m) 40,000
OLE=0t2 MIE EHI(L=60m) 80,000
O2FER0IE MIE EHI(L=70m) 90,000
XN (B =8) 530,000 530,000 0
401 Al HIZ S OHbI 530,000 530,000
01 AlZ2H| 530,000 530,000
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OZX&0I2 A& EHI(L=40m) 30,000
Xeheg (Hes) 30,000 30,000 0
401 AlEHIZL R0 30,000 30,000
01 Al&H| 30,000 30,000
Odlstote ez EHI(L=20m) 30,000
A2XE 923,500 1,123,000 199,500
201 er23| 43,500 43,000 500
01 AtR2t2|HI 42,000 42,000 0
Odgt+=H| 10,000
—ANFESS 7Y 10,000
Ogs&ie 29 4,000
—Sg3H & 2HESE F 2,000
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Ogxz 28,000
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O&AIZ A 200,000
OXIEZEHI 70,000
OAEAIE Szt 300,000
OA2TZAIE == 300,000
03 Al THHI 10,000 10,000 0
Oar2 X<Ehg 2 10,000
SRS AH| (X HIHL D) 74,976 74,760 216
JlI=23Hl 74,976 74,760 216
JI=2ZHl 74,976 74,760 216
201 L2 22,920 22,704 216
01 AtR2telb] 22,920 22,704 216
ORAM2g Jl=gtl 22,920
202 OH| 48,456 48,456
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203 BR8] 3,600 3,600
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OF MR 3,600




